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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

61- Would the English student ... easy access to synonyms, antonyms and the origin of the new words
if a good dictionary ... on his cellphone?
1) has/ was installed 2) has/ installed
3) have/ were installed 4) had/ had been installed

62- Scientists believe fossil fuels are harmful to natural environment, and they ... by sources of clean
and renewable energy very soon.
1) will replace 2) will be replaced
3) replaced 4) had been replaced

63- Mike’s recently bought a beautiful and very expensive villa and moved to a new neighborhood in
the north of London since Friday, ...?
1) hasn’t he 2) didn’t Mike
3) didn’t he 4) isn’t Mike

64- That distinguished company is going to employ new personnel very soon, but I think previous
experience is ... an advantage when you’re applying for a job.

1) suddenly 2) certainly
3) immediately 4) successfully

65- Some experts predict that in twenty years’ time, the food supplies will be so scarce for some
countries that people will probably have to start immigrating in ... numbers.

1) grateful 2) specific
3) huge 4) minor
66- Nutritionists believe that spinach is an excellent ... of iron, so eating a small ... of it will meet your
body’s need for a day.
1) resource — serving 2) source — amount
3) resource — section 4) source — quality

67- The experts of Louvre Museum examined the portrait with the latest technological devices to ... if
the found sculpture is original or fake.
1) work out 2) check in
3)endin 4) get along with
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PART B: Cloze Test

on your answer sheet.

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

Few men influenced the development of American English as much as Noah Webster ... (68)... .
In 1807, Webster began his greatest work after he had dedicated 10 years to the study of English and
its relationship to other languages. The American Dictionary of the English Language, ... (69) ... in
1828, became the recognized reference book for word usage in the United States for many years. His
... (70) ... was to show that American English was developing different meanings, pronunciations,
and spellings from those of British English. Webster, ... (71) ... had introduced many simplified
spelling forms, was the first author to gain copyright protection in the United States. Just a few years
before his death, he successfully completed a second edition of his dictionary, which included 70,000
entries instead of the original 38,000. It sold more than 10 million copies throughout the U.S. and ...
(72) ... him with a large income for the rest of his life.

68- 1) is doing 2) did 3) has done 4) does

69- 1) combined 2) generated 3) published 4) followed
70- 1) purpose 2) outlet 3) colony 4) benefit
71- 1) whose 2) who 3) which 4) whom
72- 1) measured 2) prevented 3) inspired 4) provided

PART C: Reading Comprehension

choice on your answer sheet.

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

Passage 1
For many years, fossil fuels have been the main sources of energy on the Earth, but they are harmful
to the environment. Thus, recently most countries have begun looking for clean energy resources.
The search for alternative sources of energy has led in various directions. Many communities are
burning garbage and other biological waste products to produce electricity. Converting waste
products to gases or oil is also an efficient way to dispose of waste.

Experimental work is being done to derive synthetic fuels from coal and oil, but to date, that
process has proven expensive. Other experiments are underway to harness power with giant
windmills. Geothermal power, heat from the Earth, is also being tested.

Some experts expect utility companies to revive hydroelectric power derived from streams and
rivers. Fifty years ago, hydroelectric power provided one third of the electricity used in the United
States, but today it supplies only 4 percent. Attempts have already been made to increase this
number to a minimum of 15 percent in the next five years. The oceans are another potential source of
energy. Scientists are studying ways to convert the energy of ocean currents, tides, and waves to
electricity. Experiments are also underway to make use of temperature differences in ocean water to
produce energy.

73- Which one is the best title for the passage?
1) The Use of Water Products for Energy
2) The Search for Alternative Sources of Energy
3) Efficient Ways of Disposing of Waste
4) Discoveries in Using Temperature to Generate Energy

74- The underlined word “it” in paragraph 3 refers to ... .

1) the United States 2) 4 percent

3) electricity 4) hydroelectric power
75- The underlined word “potential” in paragraph 3 is closest in meaning to ... .

1) possible 2) polluted

3) particular 4) essential

76- According to the passage, which of the following statements is NOT true?
1) In the past, about 33% of the electricity used in America came from hydroelectric power.
2) Scientists are trying to replace fossil fuels with clean energy resources.
3) Making use of coal and oil as sources of synthetic fuels is time consuming.
4) Alternative energy will come from a variety of sources.
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Passage 2

Noah Webster’s goal in life was to promote the adoption of an American language. He wanted to
free Americans from British English as they had freed themselves from the British crown. Therefore,
in 1807, he began working on writing a dictionary called “An American Dictionary of the English
Language”. He spent ten years on studying the English language and seven more years on actually
writing it. The dictionary was finally printed in 1828, but it was very big and printed in two volumes.
It is known as a very useful dictionary and is still used by many English learners all around the
world.

Webster objected to the way certain words had been borrowed from other languages but had not
been respelled. The result, he claimed, was a confusing mixture of letters, many of which were not
pronounced the way they looked, and the rest of which were not pronounced at all. Webster urged
Americans to simplify their spelling. In his dictionary, Webster changed the spelling of some British
English words to show that American English was a different language. For example, he used “honor
and color” instead of “honour and colour”, and “theater and center” for “theatre and centre”.
Although some of his spelling suggestions, including “hed” for “head” and “bred” instead of “bread”
did not catch on, Webster's changes made American English look a language different from British

English.

77- Which of the following is the best title for the passage?

1) The Difference between American and British English

2) Noah Webster and the Adoption of an American Language
3) Simplification of Pronunciation in American English

4) Webster and American Freedom from the British Crown

78- The underlined phrase “objected to” in paragraph 2 is closest in meaning to ... .

1) believed in 2) paid attention to
3) observed that 4) disagreed with

79- The underlined word “which” in paragraph 2 refers to ... .
1) way 2) mixture

3) letters 4) result

80- According to Webster, Americans ... .
1) should simplify the spelling of English words
2) should not borrow words from other languages
3) must be ruled from England

4) can spell some English words in two different ways
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